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Coefficient and index of friction.

R. E. Froude’s frictional constants for paraffin or

smoothlypainted surfaces in salt water.

Herr. B. Tideman’s frictional constants for ships

in salt water of 1029 density.
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Coefficient and index of friction
(From W. Froude’s Results)
B G Length of Surface
‘of 06 meter. | 2:4 meter. | 6 meter. | 15 meter.
Surface 72 f= 7 f 7 f , 7 f '
Varn.isah 2:00 -0117 | 1-85% -ox;e 1-85| -0104 | 1-83| 0097
1
=
Paraffin 1-95/-0119 | 1:94|-0100 | I-93|-0088 |——|—
Tinfoil . 2-16 0064 | 1-99| -0081 | 1:90| -0089 | 1-83| -0095
i 8
Calico i 1-93-0281 | 1-92| 0206 | 1:89|-0184 | 1:87|-0170
Fi;}e{ sand. 2-00, 0231 |2:00 -0166 |2-:00/-0137 |2-06|-0104
A + 2.
Medium sand | 2-00(-0257 | 2:00/-0178 | 2:00| ‘0152 |2-00/ -0139
Coags‘e sa;xd . |2:00/-0314 2-ooI 0204 |2-00, ‘0168 | —— | —r
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smoothly-painted surfaces in salt water

R. E. Froude’s frictional constants for paraffin or

Length
of
vessel
or
model

in

Coefficient
of

friction.

Power
according
to which

friction

varies.

Length
of
vessel
or

model

in

Coefficient
of

friction.

Power
according
to which

friction

varies.

00933
00928
00023
00916
00911
-00907

00902
00897
00892
} -00889
-00886
00883
00880
:00877
00874

‘00904 -
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Herr. B. Tideman’s frictional constants for ships in
salt water of 1-029 density.
Length| Iron Bottom Copper of Zinc Sheathed

of lean and Well |Sheathing Smooth | Sheathing Rough

Ship Painted. and in Good and in Bad

: Condition. Condition.
m = A e AL |

Meter. ;q_-—ngeé- 7 ﬁ 7 . ?fg : 7
30| -01124 | 1.8530 | '01000 | 19175 | 01400 | 1-8700
; 61 -010% 184%3 00990 | 1-9000 | 01350 | I-8610
' 91 | 01018 | 1-8440 | -00903 | 1-8650 | 01310 | 1:8530
? 12:2 | 00998 | 1-8397 | 00978 | 1-8400 | -01275 | 1-8470
: 152 | 00991 | 1-8357 | 00976 | 1-8300 | -01250 | 1-8430

30'5 | -00970 | 1-8290 | -00966 | 1-8270 | 01200 |

457 | 00957 » *00953 » 01183 i

61-0 | 00944 ’ ‘00943 W ‘01170 '

76 2 | 00933 - 00936 5 01160 A

914 | 00923 Y -00930 ’ 01152 5

106:7 | 00916 ” 00927 - 01145 2

| 1219 | -00910 ’ 00926 - ‘01140 ~

| 1372 | 00906 5 " 5 ‘01137 ™

152-4 | 00904 - - - 01136 i
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